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(93 : 36 15 ) (9o : 70)
| Time : 3 Hours 15 Minutes | [ Full Marks : 70 |
geterferal & ford A : Instructions for the candidates :

1. wdlzmaf OMR 3I0v WAF 8¢ HGAT 1. Candidate must enter his / her
vy giasr FHiE (10 A& F) Question Booklet Serial No.
v ferd (10 Digits) in the OMR Answer

Sheet.

2. wWrEl FuragaE 39d wa:i 4 & 2. Candidates are required to give their

3V &/ answers in their own words as far
as practicable.

3. qIfeAt AR EIRTE W R gu s W 3. Figures in the right hand margin
e & B‘L / indicate full marks.

4. T @l EZN?EE‘H? g7 @& [0 4. 15 minutes of extra time have been
REeEl #1 15 e FT AR T allotted for the candidates to read

&7 mar &1 the questions carefully.
5. q8 mvq Qf??ﬁﬂv'f gl @vgl ¥ § — 5 This question booklet is divided into
two sections — Section-A and

UG- Ud @WUg-T/
Section-B.
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GUS - A / SECTION - A

a‘&lﬁ'@‘ wyq / Objective Type Questi::;m
v T 1/ 70 7% ¥ A% W7 & W AW By Ry e & Frrf @

. U wet
mmg#wm?ﬁmﬁomﬁzwﬁﬁqﬁ#!ﬁtﬁasw ¢

BT ITT F)

Question Nos. 1 to 70 have four options, out of which only one is correct You have ¢
. ' 0

mark your selected option, on the OMR-Sheet. Answer any 35 questions.

(et mmemm sl SR WIS ( e, ) B &

35x]1=35

‘e

-IA)k e (Bl exeq
€ e+e | D) e-e,

The relative permittivity ( € ) of a medium is

A = (B) EXE
u €0 0
€) e+eq D) e-e,

2. U fag amaw g @ ri’ﬁﬁ?ﬁ'ﬂﬁ-ﬁﬂaﬁmﬁ?ﬂ%

1_4 B 1 49
A) dmey T () dn ey 2
2
g.r 1 g
C a
() 4n e, (D) dne, 1

The value of electric potential at a distance r from a point charge q is

A 1 49 _1 49
@ dne,’r _,(—1-31"‘ an ey 2
2
( q.r 1 4
) ine, (D) dne, T
b — I
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3. START E J-H SR Bl ¥

T Ry
3TV x SERTS| (B)
® 3 kR | y—
I :
() = O 37 sy T AGa

HeT A™FAT

Surface density of charge is equal to

(A)  Total charge x Total area (B) I‘.’Eall__c_l}f___rg&
Total area
Total charge :
.(C) Total volume (D) Total charge x Total volume
4. UF 1 WA fRRiE g §
(A) 80 . (B) 60
© 1 (D) 425
The dielectric constant of water is
(A) 80 (B) 60
© 1 . D) 425
5. R wt gudt %t fega-wiften @t &
R S B) 4ne, R
A = e (B) 0
4 2
© = (D) 4mey.R

R

Electrical capacitance of earth of radius R is

I | (B) 4ney R
- . T EO
4
© = D) 4ne,.R?
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T ..
A (B) 1%AM x 1
B e @ésug
1 39
jaee x 1 AA (D)
© | - 1 8T
One ampere is equal to
1 coulomb )
- B 1 |
m (B) coulomb x1 second
1 ohm
(€) 1voltx 1ohm (D) 1 volt

7. o A o WA E

(A) e (B) T

) dre (D) geA ufa TH
Unit of clctromotive force is

(A) newton (B) joule

(C) volt (D) newton/ampere

8. _:www;%m%mngﬁfm%wﬁwmﬁ?ﬁ%

(A} I.Rt (B) I.R%.t

€ I12.Rt (D) I2%2.R%.t

The heat produced in a conductor of resistancc R due to flow of current 1 for
time tis -

Ay LRt (B) 1. R2.¢

© 1%2.R¢ D) I12.R%.t
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9. S tesla (2N) &1 GAHI &1 WA gk &
FW :
A wn 'Y B 5x 105 —
) (ttz7)?
CE
€ 5x102 ——— 102 % 2
()2 (D) 5x 102 ==X (4=T)
Magnctic ficld of 5 tesla is equal to
(Al 5 x M (B) 5 x 105 weber
(metre)"! fmctrc)2
(€ s5x10? Leb% (D) 5 x 102 weber x (metre)?
(metre)
10. WS YRT ® rm.s. WA (1) 3R wemEd ukn & R 7\ (1) F 99
= gl & :
A& I, =0505I, B I, . =0606I
() I ms. =070715 Dy I, =0808I,
The relation between r.m.s. value of alternating current ( [, <) and peak value
of alternating current (Iy) is
(A) I, e =0:5051 (B) I, s =06061,
C) I s =0707I (D) I s =08081
11, g AP o o st 4Ry Ry A L R A RE G I RS
ofqeTd &1 A gl &
L
w7 B ©
L
1 1) I
(C) 1 ®
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Inductive reactance offered by an inductor of inductance L in ac circuit of

angular frequency o is

B) o.L

w

@ 7
1 L
(C’ o.L (-[-?J E

12. %W%Wﬁm&f@ﬁﬁﬁﬂmvﬁ%?
(A) mﬁﬁqmiﬂa'Qwémwm%xmﬁmwmﬁﬁ

o amert A wife
®) e T = Zoqre} AT VIR

e} A e
© ¥ R = T

(D) mﬁﬁgm’m%[mmwmﬁﬁxaquﬁmemﬁF]'

 Which of the following relations is correct for power factor ?

/J/Power factor = True average. pOwWer Apparent average power

A parent average power
" True average power .

(B) Power factor =

True average POWer _
Apparent average power

(C) Power factor =

(D)  Power factor = % [ True average power Apparent average power |

13 FHRTRYSROFFSHATE . o

() 3 | B 4
C) 5. ‘ (D) 6
Value of green colour code on carbon resistance is
A 3 B) 4
€ S . (D) 6
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o, a5 U A e o (q) T e o e o ¢

-5 - = - - -
W F,=q(VxB) B)  Fp=q(BxV)
B xV) > (VxB)
g B xV , X
@ R R

n q
—’

Expression of force on a charge g moving with velocity V in a magnetic field

5
B is
-3 - - -3 - =
(A~ F,=q(VxB) (B) " =q(BxV)
B xV) > (VxB)
- [ X
© i=tBxV) D F=

5. ziawiR & fog Pt A ARG E 2

(A) T AC. %I D.C.H wEer &
(B) & D.C. % A.C.H F|erdl &

'«©) T D.C.deedl B T AT B2 ¢

(D) 48 A.C. deeal Y ST 41 Ul §

Which of the following is correct for transformer ?
(A) It converts A.C. into D.C.’

(B) It converts D.C. into A.C.

(C) Itincreases or decreases D.C. voltage

(D) Itincreases or decreases A.C. voltage

16. T Y Weeq @1 S.1. TS &
AN | G
©  Am | IS |
| 117} A @9001-}&131} | Page 8 of 28 —




17.

18.

S.1. unit of magnetic pole strength is

N
(A) N (B) Am
A.
('('3),..— A.m o (D) _ﬁn"
et % Rty Y@ WA Bl H A B §
(A) ©° (B) 90".
The value of angle of dip at magnetic polc of the carth is
)  o° _B 90
(C) 45° (D)  180°
frafa @ g ygid &1 A 8 &
(A) 0-5%F T (B) &
©) 1% W - D) YA
The valuc of magnetic susceptibility of vacuum is
(A)  cqualto 0'S | (Bl infinite
(C)  cqual to one (D)  zero

19.

————

Jrhiter (p) % feg Frefefaa o ®iF e we g 2

H B
A == . -
( .l H=F B) n=3
(C) wu=B.H (D) p=(B+H)
Which of the following relations is correct for permeability ?
H B
LS B k=g
B.H (D) w=(B+H)

tcl H=

[117]A m Page 9 of 28
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20, g i ¥ it JERT 8 B, W H0T 5, B I &ffet weF B, 3R

21.

22,

B = 330 F B, @ @ Frfafaa F w9 w2
(A) B, =Bcosd (B) B, =Bcosd
(C) By = Bsind (D) B, = By, sind

If B is earth's magnetic field in magnetic meridian, 8 is angle of dip, By is

. - - :
horizontal component of B and B, is vertical component of B, then which of

the following relations is correct ?

(A) By =Bcosd /@3)2—” B, = Bcosd

(C) By =Bsind (D) B, =By sind

Rege- e T 3 e F e w ¥

(A) 7 & quiek (B) B % HRK

o - —) . - = .
(© (B x E )% §HIH (D) (ExB)® AN
The direction of propagation of electromagnetic wave is

- =
(A) parallelto E (B) parallelto B

- =
(C) parallelto( B x E )

verrer-as g sifas TRT 1 AEe € 2

- -
JﬂDJ,/parachI to (E xB)

@ T B) T

© = | (D) WebTeT &l citerel
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(4 Distance (B)  Time

(C)  Encrgy (D)  Intensity of light
)3, U WA QAREl § 5 g wfaf @ &

(A)  HEEE AR (B) ST 3R 3w

() et SR g (D) aRERE AR I

The image formed by simple microscope is

(AL~ Virtual and erect (B}  Virtual and inverted

(C) Real and erect (D) Real and inverted
24. IuA o9 gRT Fefefed d wH-a1 gfe v R A € 2

() Frepe-gftea (B) T

€  SHI-SLERTT (D) 3Gl

Which of the following eye defects is removed by corivex lens ?

(A) N earsightedness _ (B) _ Farsightedness

(C) - Presbyopia (D)  Astigmatism
25.  aui-fostaur ear % fere Frefefaa F S d9Y W@ E 2

(A) w=“—:_"_“_1r B w=k, - ey - )

y
#y, -1 : My B
(CJ w= Y D w:_u—rr-
Hy, = K, (D) Hy —1

——

The unit of which physical quantity is light vear ?

(117 ]A m]-9001_m31ﬂ Page 11 of 28




N

26.

27.

28

Which of the following relations is correct for dispersive power ?

) w=tr B)  w=(p, =k )Ry 1)
By~ :
© w=l — O) w=tetr
' My =M, py =1
frater o wrerer =51 A o &1 W (u=3/2) | TS AH W
Ay . 3¢ 2¢c
@ - = B 3
4c : C
© =5 D 3

Velocity of light in vacuum is c. Its value in glass (p= 3/2) will be

. o %
4c c
© F O 3

AR SR ¥ foe @mielta et & e el &

(A} fo-fe [BJ foxfe
(©) f;- D) f,+f,
The length of an astronomical telescope for normal adjustment is
@A fo- L - - B foxS,
© A _ : D) _ S+ fe

U T S & I & o BB g o g ¥

(A) 1 mm ' (B) 2cm
(C) 25cm (D) 1m

[ 117 | A [(A)-9001:Agy|- Page 12 of 28




a

-

Focal length of eye-lens of a healthy man is aboyt

A 1
A Tmm (B) 2cm
25
(C}— cm (D) lm
T &g :

g9, [amfafaa %WWWMﬁaﬁwmmga

(A) ¥ (B)  dlisian

€ TR (D) ™=

Interference of lighf; is the redistribution of which of the following physical

quantities ? :

. Mrcquency (B) Intensity

(C)  Wavelength (D)  Speed
30, WM & feRm-geamE gdr €

(A A (B) A

(C) 91x10 kg (D} 16 % 10727kg

The rest mass of photon is ) '

(A] Zero (B] infinite

(C) 91x103kg (D)__ 1-6x 107%"kg
31. &R o angfa vt gl @

1

(&) Ej-E,=5hv B) E-Ey=hv

() 1.21 - E, =3hv (D) E -E;=3hv

Bohr's frequency condition is

[ 1 : | =
(A} E -E,= Fhv (B) E, -E;=hv
(©) E, -E,=3nv (D) E -E;= %hv
117 | A (A)-9001-Ag) Page 13 of 28




32. WR FE wT AT e €
A) ifelg fa@ves (B) T sifufwar
(C) qﬁﬂ?ﬂﬁ?ﬂﬁlm ‘(1_3) ifeply Gerga

The source of solar energy is °
(ty/” nuclear fission
(B) chemical reaction
(C) annihilation of elementary parlticles
(D) nuclear fusion
33. o %1 W ar=er 9w Fridiad § HF e 2

o

(a) 9t | (B) =l
() | (D) ST

Which of the followin-g' is the best conductor of electricity ?
(A)  Silver | {B)-  Copper

(©)  Gold (D) Zinc

34.  NOR-ER% &l §feia o gy &

© A.B=y + D) A+B=y

Boolean expression for NOR gate is

(A} A+B=y | g
: (B) B=Y
€C). A.B=y @ 5
| _ L A+B=Y
117 | A [@aj-9u0 An] —
[_ J Mﬂ_@ Page 14 of 28



35. E-WR EEW (1001), ¥ [0EE wEw o9 2

(3) (12} (B}  (18),,
(C) (Oho (D)}  (2s5),,

The decimal number of binarvy number (1001),is

) (2ho (B)  (8),

AT (%ho (D) (23)

.'1 [ e - ~
. X Tl o -§9 FoRET 3 B HeNd ST E 2

Ax _,\-.-a'.y ) 4H : A . F,
A Ava 4 A,
€ ,X—— Y+ He o X

A
Which of the following represents the a -decay of 2 X?

A A-ds %y Ay
@ X ¥, He @B X
o Ay Ava 4 N
@ X Y, U
37. FEeiEd o i Hittis S0 TR § 2

C) a-=ur (D) Eﬁﬁgﬂ

Which of the following is not a fundamental particle ?

(A)  Neutron (B) Proton
(€)

T

@ -particle (D)  Electron

z+2

A+d

42

A-4

z+2

A+4

z+2

4
Y+ He
2

3
Y+ He
2

4
Y+ He
2

4
Y + He
2

17
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38,
wm%mﬁmw@aﬁaﬁqmﬁr-m% ?
AW 30300 () 30-300 kHz
' (C) 30-300 MHz (D)  30-300 GHz
Whi .
hich of the following is the frequency range for TV broadcasting ?
A 30-300 Hz (B)  30-300 kHz
C
(Gl —30-300 MHZ . - (D) 30-300 GHx
39, Qﬂ'ﬂTFﬂ
H 7 % forg Prfortan & @ A W E 2
@& <He (B) W
© ' (D) e
Whic , _
hich of the following units is correct to measure attenuation ?
(A) dccibel , : (B) ohm '
(D) volt

{C) ampere

40. TF p-UhR 31g-Ieish 8l &

(A)  EAREE
(B HUmRRE
) IERE

(D) W ¥ Y W RN ST I=T a1 ST

A p-type scmiconductor is
(A) - positively charged
(B) ncgalivcly_chargcd :
(C) uncharged .

(D) uncharged at absolute zcro temperature but charged at higher j

tempceratures

[11‘7]A (A)-9001-A@y| - =~ Page 16028




41.
@ R B &
. B 3
h
© 2z (D) -;E“'
The minimum orbital angular momentum of an clectron in a hydrogen atom is
() h B L
_ 7
h
> —_— h
}(")—/ 2n (D) 1
4, I SO A I TR gt &
w3 B 4
(C) S (D)
Donor impurity atom has valency |
(A 3 (B)
(€} 3 (D)
43, SceTEX AT &
() R B) FavErR
€ HRI ) W HIS T
Voltamcticr mcasurces
(A)  resistance ' (B)—- potential diffcrence
(C) current (D) . none of thesc
44, 1
o oH el &
A) 9 x10°Nm2c™? (B 9x 10-Nm ?c 2
€) 9x10' Nm?2c™? D) 9% IO'mNch‘2
i—-_“-__ __--—-—-—.-

AEEio TWAW] 3 A Y T Fel ol G g &

1773 (A)-9001-A@r]
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The value of ——is

4n €,
(A)  9x 10°Nm?2c™ B) 9x10°Nm?c™?
©x 9% 10'?Nm?c™ &/ 9 x 107'2Nm?c™?
a5, Fretate § @9 GO W E 2 |
' N ' -
- F - -3
(A) E=— (B) E=qF
q
- -
1 -—_q. = I -g-
© E—-—b (D) E dn ey 2
F F
Which of the following relations is correct ?
-
- F -» -
(A) E=— (B) E=gF
: q
© E=3 D) Eegme, >
F OF

26, Coea-fonTa SRIR €

a w
2 - B g
(C) wg Oy Jwq
Electric-potential ia;, equal to
a w
A (B) g
€ wg D) Jwa
47, T Tey-amgot S S.I, I Bl §
(A) cm B) cm?
€ em’ (D) cm™
-

a 117 ] A [(A)-9001-A@y) Page 18 of 28




S.I. unit of electric dipole momep; is

(A) cm - (B
o . ) cm?
(/" | (D) cm ™2
45, T B8 (F) SR em &
A) 1CV |
(A) 2 (B)  1cy-!
C 1CV~™
(C) _ (D) 1cy?
One farad is equal to
4) 1cCvV (BL- 1cv!
€ 1cv? D 1cv?
49. IR ATk HY Rafaet it @ &
a) cv? B) 3CV2
N _
© gov - o gov?
Potential energy of a charged .conductdr Is
a4 cv? ® zov?
. ' _ 1 2
© v D) +cv
0. alved i (dher ) & s & e Freeam 3 9 W@ & 2
W aoBete, ®  p=mg
2
B
c n D) p=—%F
) n 5 2

e yellow
Which of the following is correct for refractive index of mean colour ( )

COIO'UI' } ?
B, =B
A o HtH, G
2
: K
O ke D) K="

_ 2 .
. r'.-‘é',lx'?
el A (A)-9001-Ap31) Page 19 of 28



51. WA T den B B 9g # vfin ¢k 8

(A 3 @ A
(C) 100 cm (D) 10 cm
Power of parallel sided glass-slab is

,(A)’ﬂ infinity (B) Zer0
(C) 100 ¢cm (D) 10 cm

52.  HONg Fui-fEetaur arER g 8

e a i i

A (n,-n)A B)  (n, —n,)
€ (n, +u,) D)  (n, +1,)A
Angular dispersion is cqual to
(A (p, -n,)A (B)  {p, -1,
) (n, +n,) D)  (u,+n,)A
53. Tl gERi & fo fefafad F 29 % E 2
A Sfo=Te B) Sfo>/,
e S<Le D) fe<<
Which of the following is correct for Astronomical tclescope ? .
w L=/ B o>/
(?]/ -{:u <fr: (D) fr: <«< fv
54, A ¢, B AA A G
w 7F () ¥
© 1 (D) 9x10°
The value of €, in air is
(A)  wro (B) infinity
< (D) 9=10°
{117 ] A [(A)-9001-Ap) Page 20 of 28




> '%@a_mﬁwwﬁ%mwmmaﬁmmmg |

) qn

| B 4

© £ D) JaE

The valuc of force actinglon a charged particle in electric ficld is
&)  qE | ®

© £ D) ek

C C

A _]I F — B
' <
| 2
D) &=
(C) 2C .

ween Aand B in figurc is

Equivalent capacity bet
c . c__ 5




58.

59.

60.

allel connection of resistances ;

i in par
Which of the following 18 the samc 1n p

(A~ Potential difference
A

(B) Current |
(C) Both Potential diffcrence and curren

(D) Nonc of thesc

& ¥R TR Bl €

@A) 10°mH () 10°mH
© 1073mH O) 107°mH
Onc henry is cqﬁal to

(A) 10°mH | (8) 10°mH

(€) 10°mH (D) 10°mH

Feanfiea ae & forg Frafefae o 19 @@ € 2

A T - T _1
(A) a (0:6931 ) (B) a Y
C T = 9 ' 1
(C) , =(0-6931)4 (D) T =~

Which of the following is correct for radioactive element ?

___A
(A]_ Ta = 576931 By T,

1l

:HMI,_. F.IH

(C) Ta = (0'693111 (D] T =
- a

Ffetea § a9 @@ € 2

(A)  (1100), =(12)4 (B)  (1001), =(12),,
2~ W=ho

© (111, = (12),, D)  (1011), =(12)
- 2 ) 0
Which of the following is correct ? |

ﬁ\),,. (1100), =(12),,

(B) 1001), =
€ any, =g, o (1001), = (12),,

L1171 A [(A)-900T-Agy

(101 1]2 = []_2)10
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61. &ﬂﬁz%mﬁr@w@aﬁmaﬁa;

(&) AND, OR, NOT (B)  AND, o
(C)

(D) OR, NOT
Which of the fo]lowing is correct for fun

damenty] gatc ?
(A — AND, DR, NOT

(B AND, OR
(€} NAND, NOR D) OR NoT
62. ﬁﬁ%{f@a 9 B R o ¥
(A) g (B) o ~ShuT |
_ D i
€)  p-=0 _ (D) THARH
ing i d?
1 [ the following is not charge
Which o lcn " . i
” o icle (D)  electron
(C)  B-particle

= gfaay Hﬂm'ﬁgﬁqﬁwmwmm%
63. hlEA

B 2
(a) 1 o 4 i}
bon resistance i
@ 3 colour in colour code of car
The value of yellow B 2
a1 o
3 AT ?
(C) s o e 3 B ;.
64. g P B) P RA
o4 .
A P="7
RL

=RLA -
(D) p=F
. _RL 23 of 28 |
- ) A
L — [AL-0001-Ac!
4 11171 A [A)
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Which of the following is cor

L
)A)/ r>=-gf' B R
I = RLA
© oy & e
cs.  fava-maTl A et &
. Li:f. B dx.dV
B gy ®
[C]' dv (D) ':{Hﬁ £} Eh;‘é :lﬁ
X
Potcntial gradicnt is equal to
dx
(A} ‘&V g (B] dx. dVv
(C— % (D) _ None of these
66. F S I S.L AR €
@) 3m-Ee B) THRER-HRY
() dee-Hie o) (@) !
S.I. unit of electric flux is
(A)  ohm.metre (B) ampere.metre
(C) volt-metre {-DT// (volt) (metre) -1

67. TEY o:ﬁe # Freifeifed § o & o dvg = Y 2

@ 4 B) 8
(C 4:2 '
WL. | - (D) 100
ich of the following values of n is not possible in relation Q ?
=ne
(A) 4 (B)
8

()] 42

- (D) 100

~ Page 24 of 28
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68. i '
U TR ufge TYIRT =) iRz 2 feenny Frsifenfiaa i A uh g 7

. En A
A 0
(A) d (1) “y d
A
© -4 '
, o 4 S (D) e: d
Which of ine i . |
| 1ch of the following is correct for the capacity of a parallel plate capacitor ?
€, A
(A) 0 €, d
—~ d (B) yi ek
C d 1
© € A (D) - :d d
59.  ferpa-uRuy = vt &t &
(A’ V.R | (BJ VQ.R
2 .
© L= D) V2RI
Power of clectric circuit is,
(A) V.R : - (B) V2R
— V2 | D) v?2
_[G) R , (D) R.I.
70. it ufdem g &
w R
(A) p w
1
€ w.c © %
Capacitive reactance is
‘ ¢
w B w
a =
1
D) we

(A)-9001-Ac1)




e ‘ 10 x2=2¢
estion Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Euch question
carries 2 marks -

10x2=20

L 0w w fereger et Y fammay f X
Definc electric flux on a surface.

2. g favg # oy 3 )
Definc magnetic potential.

3. oI W e § o e g ) | .
What do you mean by capacity of a conductor ?

4. OV F WG A H GRS ) 36 S0 TS F R 5
Decfinc volume density of charge. Write its S.I. unit.

5. Thdl ™ W F 9 T S ¥ 39 R G § 2 2
What do you mean by apparent anglé of dip at any place ?

6. X & fam fod | : 5
Write Brewster's law.

7. i SATGET Y I SEvEE Il i e | 2
Write two cssential conditions of constructive interference. 0

8.  F% Y wHeH &AW @ 309 H EHIA & ? -
What do you mean by power of accommodation of eye ? .

- } I

9. W%wmﬁmméﬂmmamwmﬁaﬁm
M » i fli ht.

Wrile nccessary conditions for total internal reflection ot 1gh!
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

e SOl Y ST R § 2

What do you mcan by Paschen scrics ?
der ( p) Fot & @ ot = el

Write two properties of beta ( f3) raysf.
TR & FEAE Bl GHAY |
Explain n-type of semiconductor. s
NAND-ER I THZ |

Explain NAND-gate.~

T HIGer St FHA |

Explain frequency modulation.

TR-AEd Haq ot ford |

-

Write Biot-Savart's law,~-
faed AR =l gred |

Explain electrical resonance.

—

THEETR T T19-8 S T |

Explain copper-loss in a transformer,
AR-A F GHA |

Explain solar cell.

AETTeTH W AT =T IR § ?

What do you mean by semiconductor ?

fyeftae uY 1 wH |

Explain secondary rambow

to
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ﬁ&ﬁ'ﬂ'ﬂ'ma’Long Answer Type Questions
R e 21 @ 263G gwvtg ava & | [t 3 wvt & I T 1 AR & fov
s 3 fFreifia & : 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks : 3x5=15

21. mﬁm*mﬁﬁmgm@@ﬁﬁﬁ: s

1 1 1
— — 1 —
7 (k-1) [ R, RJ
Establish the formula for thin lens given below :
1 1 1
—=u-=-1 ——— ——
prw [Rl Rz]
2. WIE QEOEH @l e emal & f e W )
Find out the expression for magnilying power, of compound microscope.

23, ﬁﬁqﬁ\a-ﬁw#wwmmﬁwmﬁwmaﬁ\ 5

Establish the expression for electric potential at a point duc to a small electric

7]

dipole.

04, ST "R & at-mre-Te & fog e W 5

Find out an expression for root mean square valuc of an alternating current.

25, Wﬁaaﬂwﬁﬁmﬁzmqﬂzﬁ%gﬁﬁfa@u 5

Writc propertics of diamagnetic, paramagnetic and ferromagnetic matenals.

e, Yeiifeq T F ow-am S sl g W o F W € 7 Yeanfiza M

3 foru fameet @ (N = N ) e &Y

What do you mcan by half-lifc and avera
M ) for radioactive substance.

ge life of a radioactive substance ?

Establish disintegration formula (N =N, €

ﬁ
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